> A
A & 0l & AF 2 E A A
20158 S0l& LS H JIEISESH, SISSESAH SUEFH Y
SH =SNEMY
dM: EXDIgtx 4
&2 MISXXE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SXE M 649,058,398 725,360,398 276,302,000
= 462,626,663
X 7,989,000
J| 1,804,848
= 176,637,887
SX0IPES 11,441,034 13,106,998 A 1,665,964
= 6,056,796
< 5,384,238
Mol =XXE 11,441,034 13,106,998 A 1,665,964
= 6,056,796
< 5,384,238
SXN20F =4 78,600 63,400 15,200
201 Let249] 27,000 27,000 0
01 At 22/l 27,000 27,000 0
Ot & ==ZH| 27,000
202 oddl 4,800 0 4,800
01 = LH o4 1l 4,800 0 4,800
OMB=SXNEH JRFA 4,800
203 YR =2t 46,800 36,400 10,400
03 Al =AY R =& 46,800 36,400 10,400
OAtsl=Xge =2 46,800
ANZISXALY 24835 XI& 345,000 345,000 0
307 gl2tol& 345,000 345,000 0
10 M2 SXNANEHE2IHEX 215,000 345,000 A 130,000
SE=EMEXEE 29 215,000
11T MISRASEX 130,000 0 130,000
OAMsl=Xss2=s X& 90,000
OZYECH] 29 40,000
MEIS XA HES 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T M SXAISE EX 10,000 0 10,000
OS=UZA=T HE3S 10,000
ABIEXA E4D] X 48,000 48,000 0
307 glz2+ol & 48,000 48,000 0
11T MISXASER 48,000 0 48,000
OAMA=XAMN Exns & 48,000
A ALSIEXNSSH AR 5,000 5,000 0
201 Let24d] 5,000 5,000 0
03 & Ar2 Gl 5,000 5,000 0
O&l7 ASI=XNSR3 AZs & 5,000




2N
X ZH -
L= B
el

SXE3
SAolgtxd
Atal = XX &

2 S 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
MalsXel &otE =H 8,000 8,000 0
308 XXM SO0 A 8,000 8,000 0
01 HIXNHHBNEES 8,000 8,000 0
OAMII=XS & I8 &HA 8,000
AMEIEXAE MR A2 120,000 100,000 20,000
301 L2 A F 120,000 100,000 20,000
01 MEIBEE 2063 120,000 100,000 20,000
OAMIASINAE d&Tt /=2 120,000
MBISEXAEEAAR 2 X 167,780 195,240 A27,460
307 21201 A 167,780 195,240 A 27,460
10 ALSISXAIEEE2IHEX 167,780 195,240 A 27,460
OMIISXAE SAKRL e K& 167,780
AT MSXAE SAL Y X3 2,472,611 3,348,588 A875,977
308 XXX SO0 2,472,611 3,348,588 A875,977
01 AXNSHBLEES 2,472,611 3,348,588 A875,977
OAZ ASIZEXAESAR R 2,472,611
Hel2A=XNAE 2R 66,960 95,400 A 28,440
308 XXM S0 A 66,960 95,400 A 28,440
01 IXNHHBNEES 66,960 95,400 A 28,440
OMeI2L=EXAE 2L XA 66,960
C=0AE TR 3,946,243 3,332,498 613,745
= 2,752,796
< 1,193,447
308 XXIEHS0IA 3,659,023 3,238,748 420,275
= 2,561,316
< 1,097,707
01 IXNHHEBANEES 3,659,023 3,238,748 420,275
OL=0Al4d 2gH X 3,659,023
= 2,561,316
< 1,097,707
403 Mt SHHSA=0l& 287,220 93,750 193,470
= 191,480
< 95,740
01 HXSHMA=E X 287,220 93,750 193,470
OL=2A4 Jsed 287,220
= 191,480
< 95,740
SEMEEX2 Bt HA=E 7,140 0 7,140
201 LBt2E | 7,140 0 7,140
01 At 22l 7,140 0 7,140




2N
D EXolex s

el

X ZH
S =

EPARSE )

Atal = XX &

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OSEAEX 2 It AA=E 7,140
S At 22l A R 796,575 773,552 23,023
= 612,750
= 183,825
308 XXX SOIA 796,575 773,552 23,023
= 612,750
< 183,825
01 IXNHHMEBANEES 796,575 773,552 23,023
OSE At 2tel A XI& 796,575
= 612,750
< 183,825
S3S=XNEEMA NS 2,809,125 4,122,398 A 1,313,273
= 2,681,250
< 127,875
308 XXM SO0 A 2,809,125 4,122,398 A 1,313,273
= 2,681,250
< 127,875
01 AXSGHBLAEES 2,809,125 4,122,398 A 1,313,273
OXEE NG=R HEHAH KL 12| 1,724,625
= 1,653,750
< 70,875
O=g=42 &&5" SXNJEHAH 2= 985,500
= 945,000
S 40,500
OAtellZ2elAtg 298l X& 99,000
= 82,500
< 16,500
SE=ECSSMENNLEH 2SN 440,000 430,000 10,000
307 2Iz2t0l A 440,000 430,000 10,000
05 RIZHRI &3 440,000 430,000 10,000
OSH=L SEAMISXNEH 29 440,000
M ESXXRGHS XA 10,000 0 10,000
= 10,000
308 XXX SOIA 10,000 0 10,000
= 10,000
01 AXNHHMBANEES 10,000 0 10,000
OMEIEXE2AM XSS 10,000
= 10,000
5= SANSESdYH 24 110,000 110,000 0
307 21201 A 110,000 110,000 0
11 AMISIAIEE S 110,000 0 110,000
Os= =2NSEg2SdH 22X 110,000
Ots=X MEIAX & 24,289,159 29,000,276 A4, 711,117




2N
P OtS=EXAMHIAX

el

X ZH
S =

EPARSE )

NEotsES M RA

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 10,538,545
J| 1,804,848
< 11,945,766
NAotsES AR 24,289,159 29,000,276 A4 711,117
= 10,538,545
J| 1,804,848
< 11,945,766
OtsXHEXFEZ NSRS 40,000 12,000 28,000
307 glz2tol & 40,000 12,000 28,000
11T M SXAISEEX 40,000 0 40,000
OOSAENAZZOHE2Y 40,000
OtS S XA E B ALAA == 25,000 25,000 0
307 212t A 25,000 25,000 0
11T MISRASEX 25,000 0 25,000
OOtsEXAIES AR o3 24 && < 25,000
OtsAdESHd8s & HAXA 44,500 38,500 6,000
307 21201 A 44,500 38,500 6,000
11T AL S XA E X 44,500 0 44,500
O0EolE A 10,000
SN 0ts BHEo € A 4,500
O0sEXAE =20 =& 20,000
O0sS=XAE BURu=H 10,000
ANEtsdH2G XA 7,183,698 7,195,382 A 11,684
= 5,525,921
< 1,657,777
308 XXIEHH SOl A 7,183,698 7,195,382 A 11,684
= 5,525,921
< 1,657,777
01 XML EES 7,183,698 7,195,382 A 11,684
OXgotsdH 2HX& 7,183,698
= 5,525,921
< 1,657,777
Ot= =Xl 1 At 1,441,440 1,563,744 A 122,304
= 1,108,800
< 332,640
308 MtXIEHSOIH 1,441,440 1,563,744 A 122,304
= 1,108,800
< 332,640
01 HXNHHNBHEELS 1,441,440 1,563,744 A 122,304
OOtS=SXIWAH(Q4H]) XI& 1,441,440
= 1,108,800
< 332,640
AN0tsdlH sE3=2EX3HE 24 169,260 169, 260 0




P ESANE AL
PSS XAMEIAXE
P NGOt SESAE XA

- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2

= 84.630
= 84,630

307 gizto| A 169,260 169, 260 0
= 84,630
& 84,630

11T A EXAIEEX 169,260 0 169, 260
OX<E0tsHH SE3SZXJ{H 829 169,260
2 84,630
= 84,630

XNEOotSHEHZE I 31,186 39,836 A 8,650
= 15,593
o= 15,593

307 212t0| & 31,186 39,836 A 8,650
= 15,593
=} 15,593

05 QIZt9 &2 31,186 39,836 A 8,650
OX<E0otsHye BEoHe 31,186
2 15,593
& 15,593

B ESRCIReI N ] 766,521 697,027 69,494
J| 679,197
o=t 87,324

308 XHXIEHSOIA 766,521 697,027 69,494
J| 679,197
& 87,324

01 AIKSHHEMNEXZ 766,521 697,027 69,494
ORI R=INE| 29,162
Jl 25,840
o= 3,322
OXMOIsS YA EX= 49,226
J| 43,618
& 5,608
OeLe=I|2t DX 8,731
J| 7,737
& 994
OgAdots = & 679,402
J| 602,002
& 77,400

RES0ls 085 29X 615,441 615,441 0
J| 424 442
= 190,999

308 AXIEHSOIA 615,441 615,441 0
Dl 424 442
= 190,999

01 AIXSHMENMNEX= 615,441 615,441 0
ORBEsOsIEsE 291 615,441




2N
X ZH -
L= B

el

SXE3
Ot =X MEIAXA
NEotsES M RA

SA - BB B () - MM - BES Ol &t o San HmEET

71 104,442
< 190,999

otsAld JIsE2 50,206 156,000 A 105,794
J| 38,620
< 11,586

403 MtXISHH S =0l & 50,206 156,000 A 105,794
J| 38,620
< 11,586

01 XM A2EE 50,206 156,000 A 105,794
O0tsSAIE JIs22 50,206
J| 38,620
= 11,586

FANSOIS S Atcll2tel 3,313,000 3,600,000 A 287,000
= 3,313,000

308 XXIEHH SOl A 3,313,000 3,600,000 A 287,000
= 3,313,000

01 AXHHILEES 3,313,000 3,600,000 287,000
OFAAHEOS S AtcllZel 3,313,000
= 3,313,000

JIIERE0s o2 XA 37,166 37,166 0
= 26,016
< 11,150

201 Let249] 37,166 37,166 0
= 26,016
< 11,150

02 =224l 37,166 37,166 0
OJERAE0S 282 X 37,166
= 26,016
< 11,150

Ots 2 & X3 A & 518,788 525,920 NT,132
= 459,685
< 59,103

308 XXM SO0 A 518,788 525,920 NT,132
= 459,685
= 59,103

01 IXNHHMBNEES 518,788 525,920 AT,132
OO0ts< & X2 A & 518,788
= 459,685
< 59,103

IIERAERNNRAEH 29 297,154 297,154 0

307 21201 A 297,154 297,154 0

10 ALSISXAIEEER2IHEX 297,154 297,154 0
OJNEAEXNAEH 29 297,154

ZoI|2 2Y 215,707 215,707 0




2N

X{ XH -
S =

£

P NS E

SXE3
Ot =X MEIAXA
SASXE

(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 215,707 215,707 0
0OAMISANANEHEISIHEX 215,707 215,707 0
OZzdl|lae2dy 215,707
OlsE2sdE)|2 89 1,149,778 1,176,344 A\ 26,566
J| 574,889
=} 574,889
307 QI2t0| & 1,149,778 1,176,344 A 26,566
J| 574,889
= 574,889
10 AIRIEXAIEEHAE2IGHIEX 1,149,778 1,176,344 N 26,566
O0lsEsdEIIs 849 1,149,778
J| 574,889
& 574,889
StfIloiolsSa e 29X 127,165 0 127,165
J| 87,700
= 39,465
308 AXIEHSOIA 127,165 0 127,165
Jl 87,700
= 39,465
01 AIXSHMENMNEX= 127,165 0 127,165
Osttimloiotsae 29X 127,165
J| 87,700
= 39,465
osEIlAdE 29 382,000 1,667,894 N 1,285,894
308 XHXIGH SO0l & 382,000 1,667,894 N 1,285,894
01 AIKISHBENEXZ 382,000 1,667,894 AN 1,285,894
OltsEXAE 29 382,000
lerd|j2ed 1,000 4,755 AN3,755
308 MXISHHSOIA 1,000 4,755 AN 3,755
01 HXHHNIMNEEXS 1,000 4,755 A3,755
oge|a2dy 1,000
Z2EIESES 133,056 153,468 N20,412
308 AMXIESHMSOIA 133,056 153,468 AN20,412
01 AIXSHMENEXZ 133,056 153,468 N20,412
OZ&IysEs 133,056
AEAEHINE L ANEE A0S S A XS 81,000 413,500 A 332,500
308 XX EHSO|A 81,000 413,500 A 332,500
01 AIKSHMEMNEX= 81,000 413,500 A 332,500
OAaEAEHIIAE & ANIEEIAOSE NEHAH 81,000
Ols =24 XA (EI=E) 6,460,000 6,301,208 158,792
308 AXIGHHSOIA 6,460,000 6,301,208 158,792




2N
P OtS=EXAMHIAX

el

X ZH
S =

EPARSE )

NEotsES M RA

_ d =
SN "B S(BA) - 0] &k o4 e HlDE2
01 AXHHILEES 6,460,000 6,301,208 158,792
O0tssSAEUXNE 6,460,000
(== EADN R 784,000 3,704,264 A 2,920,264
308 XtXIEHHSOIA 784,000 3,704,264 22,920,264
01 AXHHILEES 784,000 3,704,264 A 2,920,264
O0ts=AX& 784,000
2EAHIE XA 1,500 11,088 A 9,588
308 AHAIEHHSOIA 1,500 11,088 A 9,588
01 HXNHHNBHELS 1,500 11,088 A9,588
OaxdgAHIE XA 1,500
IHERE $=EXH 17,500 79,776 N62,276
308 XX EHSOIA 17,500 79,776 NB2,276
01 HIXNHHBNEES 17,500 79,776 NB2,276
OJNE2E A=A 17,500
ANEOtsEIM X& 45,773 51,122 A5,349
308 XtXIEHHSOIA 45,773 51,122 A5,349
01 X HHILEES 45,773 51,122 A5,349
OAZ0ts& DA X 45,773
Y IEAEY Melx 2K 7,000 7,000 0
= 4,900
< 2,100
307 21201 A 7,000 7,000 0
= 4,900
= 2,100
11T AL SXAIEE = 7,000 0 7,000
OgAItFAE S 2 7,000
= 4,900
< 2,100
XNGotsdE SAX MSLIMAH X2 203,040 102,240 100,800
308 XX EHSOIA 203,040 102,240 100,800
01 HIXNHHNBHNEES 203,040 102,240 100,800
OXY0otsdH SAR M2 HsHl X2 203,040
QES0ts1EE EMNMRMAE K& 17,280 10,080 7,200
308 XXM SO A 17,280 10,080 7,200
01 X HHILEES 17,280 10,080 7,200
ORES0ts1&8E AR MRMAH X 17,280
NEotsdE AR 80,000 24,000 56,000
403 XSS X201 & 80,000 24,000 56,000
01 X SHHX2E = 80,000 24,000 56,000




2N

EPARSE )

M Ots=2XNAMEAXR
?2: XNASESAE XA (&)
SA - BB B () - MM - BES Ol &t o San HmEET

OX<GotsdH Al 80,000

ANSGotsdH 0SS &ots thal 30,000 20,000 10,000

307 21201 A 30,000 20,000 10,000

11T MISRASEEX 30,000 0 30,000
OX<ZGotsdH =SS &0ts tal 30,000

sStimloliots X=X 20,000 0 20,000

307 21201 A 20,000 0 20,000

11T AS S XAEE = 20,000 0 20,000
O&tthulools XRB= 20,000

222l 262,200 397,500 A 135,300

SEEHAT SR 262,200 397,500 A 135,300

2220 R4 20,000 8,000 12,000

203 YR =&l 20,000 8,000 12,000

03 AIMHF=XH R =AH| 20,000 8,000 12,000
OB2=0 g2 20,000

SEE=UHHAY & BEEIS A 18,000 18,000 0

307 glz2tol & 18,000 18,000 0

11T M SXAS EX 18,000 0 18,000
OSEEEUY A4 E EEHS LA 18,000

SER3A A=l X2 28,700 28,000 700

308 XtXIEHH SOl A 28,700 28,000 700

01 IXNHHBANEES 28,700 28,000 700
O=gR3A 2dzdl XA 28,700

BN 144,500 184,500 240,000

307 21201 A 99,500 134,500 235,000

11T AL SXAEE = 99,500 0 99,500
OsHH s=2=dX& 40,000
Os=2gg8Ag AN 7,000
ORMies==E 6.257| & & At 15,000
ORI A2 & HASA A2 13,000
OfREx=2ia g=sg24 XA 10,000
OsH L1550t ST AL 8,000
OS=CEANEAE A 6,500

402 QIZEXtE0| A 45,000 50,000 A5,000

01 B2t t=2 AP E X 45,000 50,000 A5,000
oyolzzd=xga Jls2d 45,000

=gsa4 NE 51,000 34,000 17,000




2N
X ZH -
L= B
el

HL WK
(RSP
o )}
0% Al Jx

->drf;"::'

el
L=

Fﬂ_o

SA - BB B () - MM - BES Ol &t o San HmEET
301 L2 A= 51,000 34,000 17,000
01 MEIBEZE 506z 51,000 34,000 17,000
O=SERIA A=235 ¢ 51,000

S =48 ot 343,808,651 365,706,722 A 21,898,071
= 282,448,148
Xl 7,989,000
< 53,371,503

MNASS dEg2d 116,711,783 138,445,004 N21,733,221
= 106,566,448
< 10,145,335

J=2=XX& At 3,500,000 1,760,289 1,739,711
= 3,500,000

308 XXIEHHSOIA 3,500,000 1,760,289 1,739,711
= 3,500,000

01 IXNHHBANEES 3,500,000 1,760,289 1,739,711
O2U==X XA 3,500,000
= 3,500,000
MASTHUHSENH2 dstnsy 23 106,400 106,400 0
308 XX EHHSOIA 106,400 106,400 0
01 X HHILEES 106,400 106,400 0
OMASIE SH2 gsud 2 106,400

FRLIEoXA 3,630,000 3,972,000 A 342,000
= 3,630,000

308 AHAIEHHSOIA 3,630,000 3,972,000 A 342,000
= 3,630,000

01 AXNSGHBLAEES 3,630,000 3,972,000 A 342,000
Odi==2 X E=ge X 2,787,000
= 2,787,000
OXaAANE =20 K& 843,000
= 843,000

MA=0 KA 105,547,383 100,756,202 4,791,181
= 95,508,448
< 10,038,935

308 XtXIEHH SOl A 105,547,383 100,756, 202 4,791,181
= 95,508,448
< 10,038,935

01 HXNHHNBHELS 105,547,383 100,756,202 4,791,181
OMASN 105,547,383
= 95,508,448
< 10,038,935

wEs0 A& 3,104,000 3,104,000 0
= 3,104,000

308 XX EHSOIA 3,104,000 3,104,000 0




2N
X ZH -
L= B

el

SN EB S (3H) - NEAY - BES ofl &k o San HDE2

= 3,104,000

01 IXHHIMNEXZ 3,104,000 3,104,000 0
OonszZd XA 3,104,000
= 3,104,000

HAMEMZ0H X 824,000 861,000 A 37,000
= 824,000

308 XX S M SO0l & 824,000 861,000 A 37,000
= 824,000

01 AXHNBMNEXZ 824,000 861,000 A 37,000
OfAMEMZ2H X3 824,000
= 824,000

MNASEZ 2B (S SHIIZELEIAH) 204,037,070 200,966,176 3,070,894
= 162,949,656
== 41,087,414

ozzgil=2 24 679,402 666,310 13,092
= 543,525
= 135,877

101 2124 d| 38,574 33,990 4,584
= 30,863
== 7,711

03 2IHAZZ2XHE %= 38,574 0 38,574
Ooz3 0 &2lAb 2124 38,574
= 30,863
o= 7,711

201 LEr2 Y| 624,828 616,320 8,508
= 499,862
& 124,966

01 AR 22l ] 614,828 596,920 17,908

O99Z2 20 AAIEE2, RAMAELEZR, E2

= M S 614,828
= 491,862
o= 122,966

03 A2 H 10,000 19,400 A 9,400
Oz 22AI 223 &L A3S HA 10,000
= 8,000
[ 2,000

202 04 d| 12,000 12,000 0
= 9,600
= 2,400

01 2L Y] 12,000 12,000 0
@r=3=: AE=X Yl 12,000
= 9,600
& 2,400

303 &3 4,000 4,000 0
= 3.200




2N

X{ XH -
S =

EONE=E= _]|>

Sl Al (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

[ 800

01 LAZ 4,000 4,000 0
OS2 HAIE HII 22 AlZ Al& 4,000
= 3,200
& 800

o220 A=Hl XA 199,850,498 196,967,376 2,883,122
= 159,600,394
= 40,250,104

307 2Iz2t0| A 199,850,498 196,967,376 2,883,122
= 159,600,394
o= 40,250,104

01 s =t 199,850,498 196,967,376 2,883,122

OXZd|, ALMELIH, dASAXZHl O

&t 199,850,498
= 159,600,394
== 40,250,104

NZ CI220AY X2 3,507,170 3,332,490 174,680
= 2,805,737
& 701,433

308 XX SHHSOIH 3,507,170 3,332,490 174,680
= 2,805,737
o= 701,433

01 AIXSHMENEXZ 3,507,170 3,332,490 174,680

O8220, =3 2A2AIHY], AIZ2HEH

| 3,507,170
= 2,805,737
o= 701,433

MASS HEXNY X 23,059,798 26,295,542 13,235,744
= 12,932,044
Xl 7,989,000
o= 2,138,754

TEDR2AY 8,831,825 10,976,880 ~2,145,055
= 8,285,000
o=} 546,825

308 MXISHMSOIA 8,831,825 10,976,880 N2,145,055
= 8,285,000
= 546,825

01 HXHHIMNEEXTZ 8,831,825 10,976,880 N2,145,055
OXEZ2Z ALY 8,831,825
= 8,285,000
& 546,825

XNENEHAEHSEH XS 1,824,760 1,913,877 N89,117
= 1,824,760

308 XAHXIEHMSOIA 1,824,760 1,913,877 N89,117
= 1,824,760

01 AIXSHMEMNEX= 1,824,760 1,913,877 N89,117




2N

X{ XH -
S =

EPARSE )

&l X{ﬁi’é P%I}Fé! A& (Sl & &)
SN - SAGEA) - MRAY - BES 0] &k o4 il Hl D&
OXSXtedye 22l 1,824,760
= 1,824,760
ANAXadyd 43 X& 96,000 96,000 0
308 XtXIEHH SOl A 96,000 96,000 0
01 X HHILEES 96,000 96,000 0
OXEAY g4dst =& AH X3 96,000
AN HE 24 K& 468,440 451,250 17,190
= 327,908
< 140,532
307 gl2tol & 468,440 451,250 17,190
= 327,908
< 140,532
10 AL SXNAIEEE2EHEX 468,440 451,250 17,190
OZYxady 29l 468,440
= 327,908
= 140,532
ZATEHEH ALHH K& 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
1 MEIE XA 20,000 0 20,000
OF= = DNE-Fulll= RPN Fea] 20,000
AUSATEAY 330,300 1,118,000 A787,700
= 264,240
S 66,060
307 glztol & 330,300 1,118,000 A787,700
= 264,240
=) 66,060
10 A SXAEHE2EHIEX 330,300 1,118,000 AT87,700
OdUS & AHE ALY 330,300
= 264,240
=) 66,060
AHEOHE S 14,000 14,000 0
307 gl2tol & 14,000 14,000 0
T M SXAIEE X 14,000 0 14,000
OxgttaE sl 14,000
s N2 343,000 681,000 A 338,000
= 343,000
308 XX EHHSOIA 343,000 681,000 A 338,000
= 343,000
01 HIXNHHBNEES 343,000 681,000 A 338,000
OX&g&aA= 343,000
= 343,000
SIS SEAME XE 2,132,480 1,373,400 759,080




2N
X ZH -
L= B

el

SXE M
Col J=2ME OF

NASS MHaidy X2

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

= 1,887,136
< 245,344

307 glz2+ol & 1,192,480 0 1,192,480
= 947,136
< 245,344

10 ALSISXAIEEE2EHEX 64,480 0 64,480
Os|YINSSEAMI(II) =22 64,480
= 45,136
< 19,344

11T M SRALSE EX 1,128,000 0 1,128,000
OX&2 U4 sLINSSHAE(N) XA 1,128,000
= 902,000
< 226,000

308 XXIEHHSOIA 940,000 1,373,400 A 433,400
= 940,000

01 IXNHHBANEES 940,000 1,373,400 A 433,400
O3 LISSTAL(1) XA 940,000
= 940,000

JbAZEE 22 2te| A ArEHl XT3 674,918 675,214 A 296
Xl 607,000
< 67,918

308 MXIEHMSOIH 674,918 675,214 A 296
Xl 607,000
< 67,918

01 AXSHBELS 674,918 675,214 A 296
OJtAt2t Y 2 EZ 22| A ALY 674,918
Xl 607,000
< 67,918

XS AE MBI AS XA =X 8,324,075 8,927,921 603,846
Xl 7,382,000
< 942,075

202 O4dl 5,000 5,143 A 143
X 3,500
S 1,500

01 = LH 4 Hi 5,000 5,143 A 143
OXNGAS MHIA EXAIYE =AY 5,000
Xl 3,500
= 1,500

307 21201 A 225,000 262,000 A 37,000
Xl 157,500
< 67,500

11T MISXAISEEX 225,000 0 225,000
OXYAZ MEIA X3S 29 225,000
X 157,500
< 67,500




2N
X ZH -
L= B

el

=X F & D
Elal jl%gil» [e] @S]

NASS MHaidy X2

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 8,094,075 8,660,778 A 566,703
Xl 7,221,000
< 873,075
01 IXNHHBNEES 8,094,075 8,660,778 A 566,703
OXNZ A A A EXHALS 8,094,075
Xl 7,221,000
< 873,075
EFAMUA X 235,859,722 282,646,567 A 46,786,845
= 163,583,174
= 72,276,548
Ctest Es ML & 235,859,722 282,646,567 A 46,786,845
= 163,583,174
< 72,276,548
EsSsSAMHIA 32,836,003 32,820,071 15,932
=2 22,886,317
< 9,949,686
307 21201 A 324,404 265,700 58,704
= 162,202
< 162,202
11T MISRASEX 324,404 0 324,404
OCHA m ARl 24 H 324,404
= 162,202
< 162,202
308 A EHHSOIA 32,511,599 32,554,371 NA2,772
2 22,724,115
< 9,787,484
01 HXNHHNBHELS 32,511,599 32,554,371 NA2,772
OBsssAMElA 32,511,599
= 22,724,115
< 9,787,484
e 0l XI& 7,432,671 5,395,039 2,037,632
= 5,321,110
< 2,111,561
308 XXM SO0l A 7,432,671 5,395,039 2,037,632
= 5,321,110
< 2,111,561
01 IXNHHBNEES 7,432,671 5,395,039 2,037,632
O M| 374,144
= 269,472
< 104,672
Ox&2gl 361,424
= 247,340
< 114,084
OuAZ2S &3H&dl X& 6,526,644
= 4,685,626
< 1,841,018

o1
|




SN =SXHHD
B BRAUA X

ool st EsAUA 2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Os0E &M geldeod X& 170,459
= 118,672
< 51,787
Helol&EdIsEd 930,285 757,463 172,822
= 620,190
< 310,095
403 XIS E X201 H 930,285 757,463 172,822
= 620,190
< 310,095
01 X SHHX2E= 930,285 757,463 172,822
Ooaold JIs2Z 930,285
= 620,190
< 310,095
IRrotEE=2 XN 116,393,167 125,837,722 AQ,444 555
= 96,926,000
S 19,467,167
308 AHAIEHHSOIA 116,393,167 125,837,722 AQ,444 555
= 96,926,000
< 19,467,167
01 AXNSHHBLEES 116,393,167 125,837,722 AQ,444 555
Ogwot 285 XA 116,393,167
= 96,926,000
= 19,467,167
gus 252 A2 50,810 64,061 A 13,251
308 XXM SOl A 50,810 64,061 A 13,251
01 IXNHHBNEES 50,810 64,061 A 13,251
ogn=s 282 XA 50,810
sy 29 28,102,160 64,106,200 A 36,004,040
308 XXIEHHSOIA 28,102,160 64,106,200 236,004,040
01 X HHILEES 28,102,160 64,106,200 A 36,004,040
OfFcltd 24 28,102,160
It N 42,540,948 46,962,672 AN4,421,724
= 35,396,000
< 7,144,948
308 AHXIEHHSOIA 42,540,948 46,962,672 A4 ,421,724
= 35,396,000
< 7,144,948
01 AXSGHBLAEES 42,540,948 46,962,672 AN4,421,724
ONggs=4 & 42,540,948
= 35,396,000
< 7,144,948
SEECSESENJHH 29 312,000 312,000 0
= 156,000
< 156,000




2N
X ZH -
L= B

el

=X F & D
EEAMHA X
st SgAMHIA 2

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 312,000 312,000 0
= 156,000
& 156,000
10 MM SAANEEHESIGHEX 312,000 312,000 0
OZEHECTRUUSEXNJALEH 24 312,000
= 156,000
= 156,000
HEl 0| & WAAA XA 67,532 83,532 A 16,000
= 33,766
o=} 33,766
307 QI2t0| ™ 67,532 83,532 A 16,000
= 33,766
= 33,766
05 QIZtREZ 67,532 83,532 A 16,000
OeoldneAdLX& 67,532
= 33,766
& 33,766
BN AAL 10,000 10,000 0
307 2Iz2t0| & 10,000 10,000 0
11T A EXAIEEX 10,000 0 10,000
OBEsnAAS 10,000
SO0 = ¥ dZH)eY FXNE =3 2A 20,000 16,000 4,000
307 giztol A 20,000 16,000 4,000
11T AISIEXAIEEX 20,000 0 20,000
ORI Sus L AZH| Y FXNE =32
oA 20,000
BRK0l9 Y AKX 9,000 9,000 0
307 2iz2tol & 9,000 9,000 0
11T A EXAIEEX 9,000 0 9,000
OBs0I9 Y AKX 9,000
BKOMNIAMHLHLHI XS 3,065,280 3,065,280 0
308 AXISHHMSOIA 3,065,280 3,065,280 0
01 AIKISHHENEXZ 3,065,280 3,065,280 0
OBEn&aaA HRRIMAH K& 3,065,280
HIICISAIEEHH =2 XA 24,780 21,260 3,520
308 MXISHMSOIA 24,780 21,260 3,520
01 HXHHIMNEEXS 24,780 21,260 3,520
OZIJIASAIE 2 =2 XN 24,780
BIOICISAIE SHA&H A& 120,000 85,800 34,200
308 XX SHHSOIH 120,000 85,800 34,200




SN =SXHHD
B BRAUA X

Sl CHs 2SAMHIA =) (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 120,000 85,800 34,200
OBIASAIE 3edl X2 120,000
HEOEUEFE RS 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T M3 SXASEEX 10,000 0 10,000
oogold th2stgdRrot XI& 10,000
0120l Botels ALY 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
11 ALS S XAEE = 10,000 0 10,000
ONB0ld EItols ALY 10,000
238 Hgoly 249 2,697,056 2,378,000 319,056
= 1,934,439
< 762,617
308 XX EHSOIA 2,697,056 2,378,000 319,056
= 1,934,439
< 762,617
01 IXNHHBNEES 2,697,056 2,378,000 319,056
O33g80eosd 2¢ 2,697,056
= 1,934,439
< 762,617
ZOHOIMZ2UE0IE 28 oA XA 60,000 60,000 0
308 XXIEHH SOl A 60,000 60,000 0
01 AXHHILEES 60,000 60,000 0
OZMHOIEZ0E 0l 283 1Add XA 60,000
Helold & JtE SAMEHZ HHHALY 40,000 40,000 0
307 21201 A 40,000 40,000 0
11 ALS S RAEE = 40,000 0 40,000
ONeold ¢ It T HNEHHZ HHAE 40,000
Oelold MRsH ns & 21448 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T M SRASE EX 10,000 0 10,000
ONE0lE MRH s & ALE 10,000
Heloldetd B M S M= XI& 52,000 52,000 0
308 XXM SO A 52,000 52,000 0
01 X HHILEES 52,000 52,000 0
Oogold et B Hse Z2MEXA 52,000
ESMEIAXA 10,000 7,000 3,000
201 Let24d] 10,000 7,000 3,000
01 At 22l 10,000 7,000 3,000




2N

X{ XH -
S =

EPARSE )
ESMHMHIA X2

Sl CHY s ERAMHIA = (B9 ®R)
(o
SA - B (3H) - NS A N= Ol At o %@ﬁ HRE2
OB A SR K2 10,000
HElo|&AER22LHEHSY 55,515 26,815 28,700
= 37,010
= 18,505
308 MXISHMSOIA 55,515 26,815 28,700
= 37,010
= 18,505
01 IXHHINMNEEXTZ 55,515 26,815 28,700
ONelold ELRLLIEHEE 29 55,515
= 37,010
& 18,505
BEsnA AI)Z2ELEHAE 214,452 214,452 0
308 NXIEHSOIA 214,452 214,452 0
01 AIXSHMENMNEX= 214,452 214,452 0
BWA2 )25 XH 214,452
Hel ol "Hotels XA &2 A 31,950 22,200 9,750
308 XHXIGHSOIA 31,950 22,200 9,750
01 AIKSHHEMNEXZ 31,950 22,200 9,750
Oelold "olels XsRA &2 JId 31,950
A2 SEER ALY 408,513 0 408,513
= 272,342
& 136,171
308 MXISHHMSOIA 378,513 0 378,513
= 252,342
& 126,171
01 HXHHIMNEEXTZ 378,513 0 378,513
OANMZISSEHESAMA(FAEX) 378,513
=2 252,342
= 126,171
403 XX SHHS K201 & 30,000 0 30,000
= 20,000
== 10,000
01 XIS A2 X 30,000 0 30,000
OANZUIEEESAMY (A2EX) 30,000
= 20,000
= 10,000
0~2M FOotet A DDA =X & 345,600 0 345,600
308 XAHXIGH SO0l & 345,600 0 345,600
01 AXHHIMNEXS 345,600 0 345,600
O0~2AM Hoter A AF =S X& 345,600
N4t DEG HSI|BLEH 2,838,000 3,649,000 A 811,000
SAEHXH 2,838,000 3,649,000 A 811,000




2N
X ZH -
L= B

el

=X F & D
HEM - DEE HSIWEY
e TP

SA - BB B () - MM - BES Ol &t o San HmEET
SLEHz NSALY 2,700,000 3,528,000 A 828,000
308 AHXIEHH SOl 2,700,000 3,528,000 A 828,000
01 HIXNHHBNEES 2,700,000 3,528,000 A 828,000
Osdtdelz NH 2,700,000
MEL DPAMIUHE EE 7,000 5,000 2,000
201 Let2d] 7,000 5,000 2,000
01 At 22l 7,000 5,000 2,000
OMEL 25 AY E22 M 7,000
MHEZ= MAX 20l AMEXE 35,000 0 35,000
307 21201 A 35,000 0 35,000
11T A SXAIEE = 35,000 0 35,000
OMIPES MAXZ0l MSEXIE 35,000
SHEHME X SMEH WUs B 60,000 50,000 10,000
307 gl2tol & 60,000 50,000 10,000
11 ALS S XAEE = 60,000 0 60,000
OHHNYE & S g 88 60,000
HEL = T0 QIAIHA 35,000 0 35,000
307 glz2tol & 35,000 0 35,000
11T MISXAISEX 35,000 0 35,000
OME4 I= 0 QARM 35,000
2EESH 29 1,000 0 1,000
201 et 1,000 0 1,000
01 At 22l 1,000 0 1,000
OR4d B354 29 1,000
HE2LAZH (SX D) 90,348 88,724 1,624
Jl23dl 90,348 88,724 1,624
Jl2zl 90,348 88,724 1,624
201 et 21,288 20,664 624
01 At 22l 21,288 20,664 624
OJle=+=EHl 8,688
OJlEs gl 12,600
202 oddl 45,360 45,360 0
01 = LH o4 1l 45,360 45,360 0
OJl=0tl 45,360
203 YR =& 22,200 22,200 0
01 JI1228 2= 6,600 6,600 0
OBH=XN=ZE 6,600
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SN =NEH
B AR (SNEHDY)
¢l =gl el xel)
SH-EHH . B(SH) - NBAY - B Y o AF o San H D2
04 ENSIHRF=EY| 15,600 15,600 0
O=X& 3t 4,200
O Lol &0 2 It 4,200
OBHE M 4,200
OAZo2*ZFotA It 3,000
405 XHaHFE SHI 1,500 500 1,000
01 Mt =S FSHI 1,500 500 1,000
OLEs UM+ 1,500
MEes 30,469,284 30,764,611 N 295,327
WEHAH X = 30,469,284 30,764,611 N 295,327
WEAHHX = 30,469,284 30,764,611 N 295,327
701 JIEIS HSHEZ 29,919,284 29,764,611 154,673
01 JIEtSI HE &= 29,919,284 29,764,611 154,673
Oz EEIA 29,919,284
702 J|12HEZ2 550,000 1,000,000 A 450,000
01 oI23xd&E23 550,000 1,000,000 A 450,000
OMal7E212 82 550,000




